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QUESTION 1

Your customer wants to use Oracle Integration Cloud Service with Order Management to communicate business
events. Select the option that shows the correct order in which the steps should be executed.

A. Manage business event trigger points, create an integration, create a connection, and track business events.
B. Track business events, manage business event trigger points, and create an integration.

C. Manage business event trigger points, create a connection, create an integration, and track business events.
D. You cannot use Oracle Integration Cloud service with Order Management to communicate business events.
E. Create an integration, create a connection, and track business events.

Correct Answer: C

QUESTION 2

The customer service representative in your company has received a request from a customer for appending additional
quantity to an original sales order that has already been released to the warehouse. The sales order quantity revision
has resulted in a new shipment line with the statue "Ready to Release."

What action would you take to ship the new line by merging it with the original shipment?

A. Run the process Create Shipments with the parameter Append Shipment set to Yes.

B. Perform Pick Release by selecting the Append Shipment check box.

C. Manually append the new line to the shipment.

D. Run the process Create Shipments with the parameter Create Shipment set to Yes.

Correct Answer: C

QUESTION 3

Your company wants to default the preferred fulfillment warehouse and scheduled ship date as order requested date
during order import and skip the scheduling task for a particular order type.

What are the two business rules that must be configured to achieve this requirement? (Choose two.)
A. Define a branching condition rule.

B. Define a lead time expression rule.

C. Define a line selection criteria rule for the scheduling task.

D. Define a compensation pattern rule.
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E. Define a pre-transformation defaulting rule.

Correct Answer: CE

QUESTION 4

Which three mandatory setups must be performed so that a purchase request is created for sales orders that will be
fulfilled by a drop ship supplier? (Choose three.)

A. Specify the preparer name in the Order Management parameters.

B. Select the Customer Sales Order Fulfillment check box under the Procurement offering.
C. Create a business rule in Supply Chain Orchestration.

D. Define a sourcing rule of type Buy with a supplier and supplier site.

E. Select the check box "Use Customer sales order" in the Group Requisitions section in the blanket purchase
agreement.

Correct Answer. ABD

https://docs.oracle.com/en/cloud/saas/supply-chain-management/r13- updatel7d/faiom/implementingorder-
management-cloud.htmi#FAIOM1860741

QUESTION 5

Identify the transformation type in which a transactional item attribute is used for transforming a product. The
transformation may be added to the existing product or replace the product on the sales order for a CTO item.

A. Attribute to Product

B. Product to Product

C. Context to Product

D. Attribute to Attribute

Correct Answer: A

An attribute-to-product transformation uses transactional attributes to transform an attribute to an item number. It can
add the transformation to an existing item or replace the item that the source order references. Assume your company
receives orders for an MP3 player that includes a Color attribute and a Size attribute, and that you must use a
combination of these attributes to reference an item number. In the following example, a transformation rule transforms

the Color and Size attributes of the Mini Plus item to the VIS481 item. Order Management displays VIS481 on the order
line.
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